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Future year Growth rate(g) Expected dividend Pv
1 0.15 1.15 1
2 - 0.15 1.3225 1
3 0.15 1.5209 1
4 0.15 1.7490 1
5 0.15 20114 1
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” | 1
0 6 7
2.0114(1.1) 1 2.21254
PV — (V= ———— x04971 =22
0.15-0.1 1.15 0.05
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D, = 1.5 ( 1.05) = 1.575,
D, =D, (1.05) = 1.6538
Dy =D, (1.05) = 1.7364
Dy =Ds (1.05) =1.9101
Ds=D, (1.1) =2.1011
T
1.575 1.6538 1.7364 1.7364(1.1} 1.7364(I.I)2
| | | ] ]
0 1 2 3 4 5
1 1 17364 1
PV = 1.575 ( )+ 1.6538 ( & ( )
1.12 1.12 12-10 112
=1.4063 + 1.2556 + 69.2124
=71.8743.
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Estimates of Parameters in the Dividend Discount Model
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2,128,000 x 0.6 1,276,800

Div, = = —— ~1.28%
1,000,000 1,000,000
1.28
nrs +0.064
10
= $0.192
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r 018

V, =
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o r-g T 0.18-0.02
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= EPS + [EPS (R) (i) /r - EPS (R)] (1+R1)
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b LS Ayl LYY i e il (Say Ml

EPS+{EPS{R)(1)/-EPS(R}| EPS+|EPS(RY\A-EPS(R)(I+RD -
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EP RO Eps k)
r
NPVGO = (11)
r-g
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The term structure of Interent Rates sail&) jrw JSub 9.7
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0 Year(1) 1 Year(2) 2
| l |
Bond A «— 8% —— $1,000
Bond B « 10% » $1,000
{ LS (B) il 5 (A) i (0 JS Tllal) Rnlh (55
1,000
PVa= =$925.93
1.08
1,000
PV = = $826.45
(1.10)
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f el Sl g (B) aidt s (A) il Al daill cid jela
$1,000

PV, =92593 = . 1= 8%
1+ Ty '
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$1,000
PVg = 826.45 = - = 10%
(1 + 1)

i Blad e 4l Spot  Rates & jlalt sxildll jlauf cabias
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1l
( 1.06 ¥
f2= —(—1—05—)—' -1 = 701%
(1.07)°
f3= —(—176—2 -1 = 903%
06)
(1.06)*
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il < il e Spot rate Ay lall Jlau) of U Ls jdsg
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One - Year Spot rate from date 1 to date 2 is unknown as of
date 0.
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It is important to emphasize that, although the forward rate

is known at date 0, the one - year spot rate beginning at date
1 is unknown ahead of time.
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(1) 1,000 x 1.08 = 1,080
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F, < Spot rate Expected over year(2) (18)
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